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i) ABC straight line implies AB and BC are parallel.
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t(t?—9) =0 therefore t = 0 or t* = 9 therefore t = 0, 3 or -3. In(-27) and In(0) are
not defined therefore t = -3 and t = 0 are not valid which means t = 3 is the only solution.



7)x3+2x%y =y®+ 15
3x2dx + 2(2xydx — x2dy) = 3y*dy
(3x* +4xy)dx = (3y? —2x*)dy
d_y:3x2 +4xy:3><22+4><2><1__4
dx 3y*-2x* 3x1*-2x2°

1
x=2,y=1landm= —

1
8) |) -sinx ecosx
i) =
7 i Ul
jcos x sin xe*dx = |- cos xe™ |z -
0

T

sin xe™*dx = |- cos xe™* +e“*

O 0 | 3

T cosZ cos™
= (— cos—e - 2]—(— cos0e® + ) =1

9)r=(3+10i+(1-10j+(L+20k

oS0 — 4x1+0x-1+3x%x2 10
)t=1  OP=4i+3k VA 107 +3 xy1? + (-1 +2° 5V6
0 =35.3°
i) OQ = (3 +1)i + (1 — ) + (1 + 20k OQe(i—j+2k)=0
B+)—-(Q-t)+21+2t)=0 t:—g

O

O

11
7\
| =N
W~ w|n wl~
N—

iii) \/(S—EJ +(1+gj +£1+2><—g) =\/§:ﬂ:2.89
3 3 3 3 3

1 _ A B _ 1 1
10)i) 3-Xx)(6-%) 3-x 6-x 3B-=x) 3(6-X)
1=A(6-x)+B(3—x)

x = 3 implies A = 1/3,
X = 6 implies B =-1/3
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